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Library IEEE;
use IEEE.STD_LOGIC_1164.all;
entity sevenseg decoder is
port {
b

: in std_logic_vector (2 downto 0);
ssgmt : out std_logic_vector({e downto 0));

-- ssgmt (0) <=> a
-~ gsgmt (1) <=> b
-- gsgmt (2) <=> ¢
-- ssgmt (3} <=> d
-- ssgmt (4} <=> e
-- ssgmt (5} <=> £
-- sagmt (6} <=> g

end sevenseg_decoder;

architecture rtl of sevenseg_decoder is

begin -- rtl
decode : process (b}
begin -- process decocde
cagse b is
when "000" => gsgmt <= "100000C";
when "001" =»> ssgmt <= "1111001";
when "010" =» ssgmt <= "010010C";
when "01l1" => ssgmt <= "0110000";
when "100" =»> ssgmt <= "0011001";
when "101" =» ssgmt <= "0010010";
whenn "110" =» assgmt <= "0000010";
when "1ll" =»> gsgmt <= "1111000";
when cthers => gsgmt <= "1111111";
end case;

end process decode;
end rtl;
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Library IEEE;
use IEEE.STD LOGIC 1164.all;

entity max is

port
A, B : in std logic_vectocr{6 downto 0);
CLK : in std_logic;

M : out std_logic_vector{é downto 0)
1

end max;
architecture rtl of max is
begin -- rtl

compare : procese (CLK)
begin -- process compare
if clk'event and clk = '1' then
if (A > B) then
M <= A;
elae
M<= B;
end if;
end if;
end process compare;
end rtl;
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library ieee;

uge ieee.std logic_1164.all;
uge std.textio.all;

use work.all;

entity memctrl is

port {
read_write, ready, clk : in bit;
oe, we : out bit);

end memctrl;
ARCHITECTURE
rtl of memctrl IS
subtype statetype is std_logic_vector (1l downto 0);

-- state encoding

constant idle : statetype := "00";
constant decision : statetype := "01l";
constant write state : astatetype := "10";
constant read_state : statetype := "11V;

signal present_state , next_state : statetype;

begin
state_comb: process (present state , read_write, ready)
begin -- process

cage present_state is
when idle => oe <= '0'; we <= '0';
if ready = '1' then
next state <= decision;

else
next_state <= idle;
end if;
when decigion => pe <= '0'; we <= '0!;
if read write = '1' then
next_state «= read_state;
else
next_state <= write_state;
end if;

when read_sgtate => oe <= '1'; we <= '0';
if ready = '1' then
next_state <= idle;

elge
next_state <= read_state;
end if;
when write state => 0e <= '0'; we <= 'l';
if ready = '1' then
next_state <= idle;
else
next state <= write_state;
end if;
when others =»> null;
end case;

end process;
state_clocked: process(clk)
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begin
if (clk'event and clk = '1') then
present_state <= next_state;
end if;
end process;
end rtl;
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